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Table 2. Death rate from cholera by source of water. Rate per
10,000 houses. London. Epidemic of 1854. Snow’s table IX.

No. of Houses ~ Cholera Deaths  Rate per 10,000

Southwark & Vauxhall 40,046 1,263 315
Lambeth 26,107 98 37
Rest of London 250,423 1,422 59
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Table 1. HIP data. Group sizes (rounded). deaths in 5 years of
followup, and death rates per 1000 women randomized.

Group Breast cancer All other
size No. Rate No. Rate
Treatment
Screened 20,200 23 1.1 428 21
Refused 10.800 16 1.5 409 38
Total 31,000 39 1.3 837 27
Control 31,000 63 20 879 28
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